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GENERAL INTELLIGENCE & REASONING

Directions : In question nos. 1 to 6, select the related word/
letter /number from the given alternatives.

].+

i

ADHM : ZUQN - :GIKW N
(A) NOQS TORN

(O) TRPN (D) TNRP
7:183%:-9-7
(A) 147 (B) 99 ga/m (D) 158

¥ b q}' "-'13
355:5515::31 i
729 (B) 629 (C) 319 (D) 826

. Victgry :Joy :: 7 : Sorrow
Defeat (B) Depression
(&) Melancholy Dy Cry

Body : Stomach : : Library : ?
(A) Cash (B) Book
(C) Headmaster (D School

HAND: JBPE:: PALM:? ~Lb M N
(A) RBNM RBMN
(C) QBNN (D) RBNN

Directions : In question nos. 7 to 12, select the one which is
different from the other three responses.

7.

m‘ eaching (B) Counselling

(C) Instruction (LY Guidance
? T
(A) (25, 49) (B) (121, 169)
(7, 169) D) (9, 25)
35
(A) HEAT (B) MEAT
3 (D) BEAT
(A) 8465 (B) 2643
(O 4867 (D) 6243
(4) EhjL (B) Prtv
@};npR (D) Cegl

N

e an
Ty

12. (A) Sitar (B) Violin
(C) Tanpura (D) Veena

13.  Arrange the following words as per order in th

dictionary.
(i) Forge (i) Forget
(1ii) Forgo (iv) Forgive (v) Format

(A) (w), (ii), (iv), (iii), (i) (B) (i), (iv), (iii), (ii), (v)
(O (iii), (iv), (v), (if), (i) (D) (i), (ii), (iv), (iii), (v)

148.  Which one of the given responses would be 2
meaningful order of the following words ?
(i) Police (ii) Punishment
(iii) Crime (iv) Judge (v) Judgement
(A) (1), (i), (iv), (i), (v)  (B) (v), (iv), (iii), (i), (i)
(© (i), (i), (iv), (v), (i) (D) (i), (i), (i), (iv), (v)

Directions : In question nos. 15 to 18, a series is given with
one term missing. Choose the correct alternative from the
given ones that will complete the series.

#5. KJL,.ONP,SRT. _I'?

(A) WVX (B) VWX
() WXV (D) VUW

5. 193, 202217 sow il
(4) 236 (B) 252 (O) 275 (D) 245

Y. AN BOCE,DO 7
WEG (B ER (QEH (D) EF

LN [ b T
(A) 210 (B) 211 < 212 (D) 209

9. A group of alphabets are given with each being
gs.;ngned anumber. These have to be unscrambled
into a meaningful word and correct order of

ean r of letters
may be indicated from the given responses, 3

E R D I B 5
0 | G | @@ [ Gy (e} (vi)
(A (V). (i), (vi), (), i) (i)
(B) (v, (v), (i), (ii), i) (i)
O ), (i), (i), (v), (vi) i)
©) V), (vi), (), (i), (i) (ii)
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20.

23,

24,

Which one of the following diagrams best depicts
the relationship among Mammals, Cows and
Craws ?

(A) - fB}OO

O
{q@@ mn

Which of the following figure best represents the
relationship amongst the Human being, Girl, Boy ?

) @ (B) |
© @O on ) @0

In a row ata bus stop, ‘A" is 7t from the left and ‘B’
is 9 from the right. They both interchange their
positions. Now A becomes 11t from the left. How
many people are there in the row ?

(A) 10 (B) 20 © 19 D) 18

At present, the ratio between the ages of Arun and
Deepak is 4 : 3. After 6 years, Arun's age will be
26 years, What is the age of Deepak at present ?

(A) 15 years (B} 19 years
(C) 24 vears (D) 12 years

From the given alternatives select the word which

cannot be formed using the letters of the given word,
Encouragement

(A) game  (B) tear () neck

(D) meat

If DELHI is coded as 73541 and CALCUTTA ag
82589662, then how would CALICUT be coded in
that code ?

(A) 5978213 (B) 8251896
(© 8543691 ' (D)

26.

27

28,

If ‘TUNE’ is written as ‘PORS” and "AUC[
written as ‘WQFQMN’. How can ‘GUEg;
written in this same coding language ?

(A) FPSMN (B) FQSMN

() FQSNM (D) FQTMN

In the given figure, circles represent stud
studying three different subjects. How m
students study all the three subjects ?

(A) 2

(B) 3

©Q 4 ) 1

Arun said, “This girl is the wife of the grandsor
my mother”. Whois Arun to the girl ?

(A) Grandfather (B) Husband
(C) Father-in-law (D) Father

Directions : In question nos. 29 and 30, some equations ;
solved on the basis of a certain system. On the same bas
find out the correct answer for the unsolved equation.

29.

30.

31.

32,

If 235=138 and 452=45, then 345=7
(A) 49 (B} 66 ) 72 (D) 50
2X3=49, 5x6=2536, 1 x9=181, 4 7=7

(A) 1628 (B) 1649 (O) 2549 (D) 12

If “X"means’+’, + means'—’, + means* <" m
‘—"means‘ » ' then what should be the value of t
given equation 7

14 %x4=70+10-2= ?
(A) 33 (B) 15

© 30 D) 4

Select the correct combination of mathematical sig
to replace * signs and to balance the given equatic

i TR 0 fla N1
(A) X + = X B) +— x=
Q) 4+ = X D) + + ¥ -

R ROUGH WORK
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Directions : In question nos. 33 and 34, select the missing
number from the given responses.

(A) 330 (B 336 (O 428 (D) 420

3L 12 15 16
03 04 05
04 06 04
40 66 ?
(A) 104 (B) 320

© 25 (D) 84

35.  Seema walks 30 m North. Then she turns right and
walks 30 m then she turns right and walks 55 m.
Then she turns left and walks 20 m. Then she again
turns left and walks 25 m. How many metres away
is she from her original position ?
(A) 45m (B) 30m
(€) 60m (D) 55m

Four different positions of dice are as shown below.,
What number is opposite to face 3 ?

S

(1) (ii) (1ii)
{a) 4 B) 3 o 2

(iv)
D) 6

37.  After walking 10 m, Shankar turned left and covered
a distance of & m, then turned right and covered a
distance of 20m. In the end, he was moving towards
the south. From which direction did Shankar start

his journey ? |

Directions : In question nos. 39 and 40, one/ two statements
are given followed by two/ four conclusions I, I1, ITT and IV
You have to consider the statements to be true even if they
Seem to be at variance from commonly known facts. You
have to decide which of the given conclusions, if any, follow
from the given statements.

L]

39.  Statement Songs always have singers to sing

therm.

Conclusion I: Singers makeasong.

II : There is no un - sung song.
(A) Only conclusion I follows
(B) Both conclusions I and II follow
() Neither conclusion I nor II follows
(D) Only conclusion I follows
40. Statements I: Somecatsare dogs.
II: NodogisaToy.
Conclusion I: Somedogsarecats
II: Some Toysare cats
[I: Some cats are not Toys
IV: All Toys are cats
(A) Only Conclusions [ and [11 follow
(B) Only Conclusions IT and I11 follow
{CO) Only Conclusions I and 11 follow
(D) Omly Conclusion I follows

Diirections: In question nos. 41 and 42, which answer figure
will complete the question figure ?

41. Question figure:

Q)

(A) West (B) North 7
(© South (D) East x@
38, Six personsaresittingina circle. AisfacingB, Bis Answer figures :
' therightof Eandleftof €. Cistotheleft of D. Fis.
-ht of A. Now D exchanges his seat with F S =
:;: :ihE E%ﬂ'l B. Who will be sitting to the left of D i:" { & ) @
(4) D B) E © A (DIVES (A) (B) (©) D)
o N IS
SPACE FOR ROUGH WORK
I. 1 3 5
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k2. Question figure:

fis
L

v

<4
2

?

Answer figures ;

)

(A

[I}irect?uns : In question nos, 43 and 44, select the answer
figure in which the question figure is hidden/embedded.

43.  Question figure:
A
Answer figures

()

(D)

i e
A

(B)
Question figure :

g

Answer figures:

og

L —

e ) I T
T e

-
5

Directions : In question nos, 45 and 46, A piece of paper is
folded am:"l cut as shown below in the question figures
From the given answer figures, indicate how it will appear
when opened ?

45.  Question figures :

e ——
— = ———y

O B
iK_/)H__ H

e
X/

Answer figures ;

Ve /S\ /‘ |r/"7:““‘\
."f,} O -ﬂlﬂ n'iil,'-l 7 ; >JI|'{D |
|. = ﬁﬁﬂ;r|k_b/|l|wl

46, Question figures:

S

Answer figures

il |

(B)

T —— T e,
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Directions : In question nos. 47 and 48, if a mirroris pllaced
on the line AB, then which of the answer figures is the
rightimage of the given figure ?

47.  Question figure:
. ® © ©)
48. Quesﬂnnhsm
I'E._.. ._-.._ '.*.
i x“

49,

&

| /;m/ 10,11, 65
|i tl

3 50.

A word is represented by only one set of numbers as
given in any one of the alternatives. The sets of
numbers given in the alternatives are rei_:-resm_mrrj
by two classes of alphabets as in two matrices given
below. The columns and rows of Matrix I are
numbered from 0 to 4 and that of Matrix II are
numbered from 5 to 9. A letter from these matrices
can be represented first by ifs row and next by its
column, e.g. 'C’ can be represented by 00, 12, 23, etc.

and ‘M’ can be represented by 56, 67, 77, etc.

Similarly, you have to identify the set for the given

word - GOD,

Matrix I Matrix I1
G112 3 %] 5[e]7]8]9]
DJCID[E|F|GC 5LMNG_E;_
TTCID|C[EIE pIPJL|M|N]II
2IEIEREIG|ICID TILIOIM[P[N
3G G D|E s IN|O|P |M[L
IID|C|F|G|E 9 [PILIM|N|O
&

(B) 95,79,12

e 1

A word is represented by only one set of numbers as
given in any one of the alternatives. The sets of
numbers given in the alternatives are represented
by two classes of alphabets as in two matrices given
below. The columns and rows of Matrix | are
numbered from 0 to 4 and that of Matrix 1| are
numbered from 5to 9, A letter from these matrices
can be represented first by its row and nex! by it
column, e.g. ‘B’ can be represented by 01, 10, 22 etc.
a{ud_‘F_" can be represented by 55, 76, 86, etc.
ﬂﬂrjmu have to identify the set for the given

(D) 00,10,75

g o Lol B
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51.

PART - B

GENERAL KNOWLEDGE & GENERAL AWARENESS

If a firm is operating at loss in the short-period in
perfect competition, it should :

(A) decrease its production and the price

(B) i e the production and the price
)G)}ED::;EM npezateas long as it covers even the

variable costs.
(D) shut-down aru:I leave the industry

For which one of the following commissions, there
is no provision in the Indian Constitution ?

(A) Election Commission
(B) Finance Commission
ing Commission
(D) Union Public Service Commission

Which one of the fﬂl]ﬂwing statements about
PYROLYSIS, which is a process for solid waste
treatment is incorrect 7.

(A) Itconverts the waste into solid, liquid and g,-as 3
" of which the resultant llq'l.]ld and gas can be

: tupm::luceenerg}r

MEE;MEEP]‘[EIEPIE&EUIE

1 56,

T T

The prucésa occurs at a temperature ahuve
59,

(©) The process occurs under high pressure at*'

tEJ,'ﬂPEl'ahlJ:E abmre EU“C.

| 56.

57.

Which one of the following is not a line of
demarcation between two countries 7

nternational Date line
(B) MacMahon Line
(C) Radcliffe Line
(I¥ Dwurand Line

Which of the following supports particle nature of
photons ?

(A) Diffraction

(B) Polarization
/(Antnelectric effect

(D) Interference

Which country won the Sultan Azlan Shah Hockey
tournament in MaIa}rs‘.ia in March 20113 ?

(A) Malaysia
() India

MNewzealand

/@J’/Pl‘lstralm

The heaviest naturally occuring element is -
(B) Polonium

(©) Thorium (D) Uranium

Which of 1he following is not a.n operating
system ? —

M‘-‘lﬂ lI.EEI' Emgle taskmg
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b2.  Haptens are
() doantigens
Incomplete antigens
(©) Antibodies
(D) Isoantigens
63. Which state in India occupies the same ranking
position in respect of area and population ?

(A) Manipur ) Meghalaya
MNagaland (D) Gujarat

64. Sulphur dioxide bleaches colouring matter by :
}A:m:ﬁm (B) Dehydration
{C) Decomposition (D) Oxidation

65. Which of the following elements is not

radic-active 7

)?!/n:r:}:ﬁm (D) Uranium "

b6. Wﬂtmg of plants occurs due to excessive :

tation

(B)

Transpiration

70.  Where was the Fifth BRICS Summit hosted by South
Africa in March 2013 7

f{g’i Durban

{C) Pretona

(B) Johannesburg
(D) CapeTown

Lake formed in acut off river meander is called :
(A) Pjg:ya Lake (B) Meteoric Lake
(@ Ox-Bowlake (D) CraterLake

72.  The rapidly growing mass of phytoplankton

covering the surface water of alakeor pond is known
as

(A) Eutrophication KEB}”Waterblmm
(C) Water pollution (D) Water hyacinth

Which is the leading
in “Ship Breaking “ industry ?

(A) Tamil Nadu

state in India

(B) Maharashtra

(D) West Bengal
The telephcme line is connected through the

on the computer.

WGSB
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77.  Match the following : 82. A spontaneous change is one in which there is
(a) Chalukyas (i) Malkhed (A) Alewering of entropy
(b) Hoysalas (i) Vatapi : A lowering of free energy
(c) Rashtrakutas (iii) Warangal (C) Increase in free energy
(d) Kakatiyas (iv) Dwarasamudra (D) An increase in Internal energy
W} (b)-(1v) (c)-(3) (d)-{(iid) | 83.  Among the following states, which one has adopted

N " 2
(B) (a)-(iv) (b)-(iii) (c)~(i) (d)-{ii) the “MNeem” tree as the state tree !

a il Nadu
(©) (@) (b)-(ii) (2)-{aii) (d)-(iv) | (A) Ma.h?rashrr (B) Tami ?:_r S
a a
(D) (a)-(ii) (b)-Gii) ()-(iv) (d)-Gi) | (© Kera _(D)Andhr

| : ine i imagi line joining places of
78.  Wings of birds are : B4, Contour line is the imaginary line joining p

equal :
(A) Modified hind limbs , (A) Rainfall (B) Humidity
(B) New structure 1 }}/ﬁﬂ&tiﬂﬂ (D) Temperature !
(C) cumentary outgrowth : _
Modified fore limbs | 85.  Who is the Chairperson of the National Green
.‘ Tribunal 7
id A ice ].5. Vi
79.  The world's tallest statue of Mahatma Gandhi is in | @) ] L eia
_ ’ - Justice Swatantra Kumar
(© Lucknow (D) Rajkot | (@) JusticeMarkandey Singh

"I .

ﬁﬂhlchmﬂ&mfnﬂumngfst}mpmmpals
af: uﬁnnﬂgﬂ@ on .ﬁ.ss::,lg:a 5 r:au.'n:u;:@,}g:ut aga
: Ka]irl
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L ;ﬂTa}mm professions” can be levied by :
) State government only

(B) both by state and union government
(L) by panchayats only
(D) Union government only

90.  Which one of the following is opposite tudemncrahr:

state 7
/“’ﬁpmism (B) Republic

(C) Socialism (D) Monarchy

91.  Which ore is not a function of money ?
(A) Transfer of value
(B) re of value
Price stahﬂisaﬁcn

(D) Value measurement

92.  Instrumentused to study the behaviour of a vibrating

string is : N
(A) Barometer (B) Hydrometer
(©) Hygrometer ) Sonometer

93. Match the following: |
(a) Hunter's Commission (i 1543 ..
(t) WardhaScheme i

{c} Umvemgﬁaﬂct o
Cq:ruxuaamga-_ ;

v.u *

il 95.

| g,

o7.

98.

Panda belongs to the same family as that of :

(B) Porcupine
Bear

(A) Kangaroo
(© Whale

“Closed Economy” means :
(A) no provision for public sector

(B) no provision for private sector

il |12, :’Egnnmic policy not well defined
/[]3} a country having no imports and exports

The Gandhara art flourished under :
(A ‘the Kushans

'JH{B} the Satavahanas

(C) the Guptas
(D) the Mauryas

At " Break-even point”,

(4) the industry is in equilibrium in the long-run.

(B) the producers suffers the minimum losses :

(C) the seller earns maximum profit
]//ﬂrm is at zero-profit point

Who ;:id? "’Where thera 1.5 no law the:-e 15 no
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PART - C
QUANTITATIVE APTITUDE
101. The ratio of two numbers is 3 : 4 and their HCFis 5. | 108. An article was sold at 16% gain. Had it Ei’fﬂﬁzﬂd
Their LCM is: for 200 more, the gain would have been 20%. Then
the cost price of the article is :
(&) 20 60 Q) 15 D) 12 A [B) T 4800
(C) T 4500 (D) ¥ 5200
102. The value of tan1°tan2°tan3".. tan89° is :
1 109. From the top of a hill 200 m hi gh, the angle of
b depression of the top and the bottom of a tower are
(© undefined D) 0 observed to 30° and 60°. The height of the tower 15

103. A man sold 250 chairs and had a gain equal to
selling price of 50 chairs. His profit percent is :

(A) 20% /:BK?E% O 50% (D) 15% |

A can do as much work as B and C together can do.
A and B can together do a piece of work in 9 hours
36 minutes and C can do it in 48 hours. The time
(in hours) that B needs to do the work alone, is :

(A) 18 24 © 30 (D) 12
o

A solid right circular cylinder and a solid
hemisphere stands on equal bases and have the same

height. The ratio of their whole surface areasis:

b N b R '/@43 [Djzm;&

is. ﬂ'ﬁﬂd . -‘"".,.' -

106.

If areacfm‘éqﬁl&bﬁrﬂltrmtglf
thenvalueof 2 s

(inm):
&
(A) mgﬁ (B) 1555
;ﬂ/ﬁ% (D) 20043

110. A copper sphere of diameter 18 cm is drawn into a
wire of diameter 4 mm. The length of the wire, in

metre, is:
{B)/z;:e. (D) 24.3

(A) 2.43
111. Triangle POR circumscribes a circle with centre O
! and radius r cm such that ZPQR=90°.
fPQ=3em, QR =4 cm, then the value of ris -

(&) 2 (EBIR15 e eyl 25N e

o 2 =

(©) 2430

&

HET I [y :
"2_ -

1112, Thevalueof 1 +
: T i e
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114.

115.

116.

117.

118.

Three circles of equal radius ‘a’ em touch each other.
The area of the shaded region is :

L —

(3 + 2
(A) = a” 5q. am
'5\-"3 - 'I'I'] a
(B) SN 4" 5. cm
\

(C) {'J'E = 'I-T) i 5q. cm

Mzﬁ—'ﬂ] &
—2 a  Bq. Cm

If x=a—b, y=b—c, z=c—a, then the numerical
value of the algebraic expression x* + 1 + 2% — 3xyz

will be :
B 0

(A) a+b+c
(© 4(a+b+c) (D) 3abc

The linear equation such that each point on its graph
has an ordinate four times its abscissa is:

(A) y+dx=0 (B V=dx ‘

Q) x=4y D) x+4y=0

A godown is 15 m long and 12 m broad. The sum of

the areas of the floor and the ceiling is equal to th
sum of areas of the four walls. The volume (inm?).

the godown is:

(A) 900 ﬁj’”ﬂﬂﬂ

3 men and 7 women can do a job in 5 days
4 men and 6 women can do itin4 days. The
of days required for a group of 10 women working
together, at the samerate as before, to finish the sam

(€ %‘f{' ,:':’

© 1800 @) 720

j::rl:- is:
(&) 30

11
E il

(B) 36

—

Pownload From : hitp://sstptirtaR

‘1:‘ :‘:.ll %?- :‘l;-_ \

119,

120.

121.

122,

123,

124,

The value of
/1936 + 01936 + 0.001936 + ~/0.00001936
I

(A) :1‘;,&:1-34
J[QT"&.BEE#

A shopkeeper marks the selling Frice of h:ifa gﬂ?c:ds
in such a way that after giving a discount of 10 .-r.u_hl.-.
gains 17%. How much percent above'the cost price

is the marked price ?

(B) 4.8694
(D) 4.8234

(A) 36% (B) 27% f{t;:;"'ﬁf}% (D) 40%
One of the factors of the expression
43x% 4+ 5x — 243 is:

(A) 4x +3 (B) 4x+3

B 4x— B

On a journey across Kolkata, a taxi averages 50 km
per hour for 50% of the distance, 40 km per hour for
40% of it and 20 km per hour for the remaining. The
average speed, in km/ hour, for the whole journey

is: M g

(A) 42

A man ordered 4 pairs of black socks and some pairs
of brown socks. The price of a black socks is double
that of a brown pair. While preparing the bill the
clerk interchanged the number of black and brown
pairs by mistake which increased the bill by 50%.
The ratio of the number of black and brown pairs of
socks in the original order was :

(AN 1 1:4 o s .

() 4x—3

(©) 35

(D) 4:1

In the following figure, AB be diameter of a circle
whose centre is O. If ZAOE=150°, /DAO=51"
then the measure of #CBE is -
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125. If the square of the sum of two numbers is equal to B V3 + V2 then the value
4 times of their product, then the ratio of these | 133, If x = ﬁ:—lﬁ and y = - PR gy
'

numbersis; gl
o
(A) 2:1 B 1:3 )QK (D) 152 oF X _31"1 o ]
(A) 950 (B) 730 (C) D)

A2 pe 134. A single discount equivalent to the fullm';v%ix?g ﬂ;'.'::s
126. Ifa=+b”=>5ab, then the value of [h—z + a—I] 151 successive discounts of 30%, 20% and 107 15 g

by
%
(&) 32 (B) 16 /g{ @ -23 wﬁm&. (B) 50.5{}%
(C) 49.40% (D) 50.40
127. In i t trees, .
ﬁ?&g}gtt%:;iﬂli:?ifiﬁi;ei;: ::?;;?—-L;ut:es 135. The greatest among the following numbers of

and 20% of the number of mango trees are apple

[ | e
F3 ."'2 .-"El 15
trees. If the number of apple trees are 1500, then the 39,24, 1 6

number of trees in th denis: ;
§oak W4 Bl O ¢ M
(A) 48000 ,EB)'/ 50000
(€ 51000 (D) 45000 136. The areas of two similar triangles ABC and DEF are
30 em? and 45 cm? respectively. If AB=5cm, then
128. A sum of money placed at compound interest DE is equal to: o
doubles itself in 5 years. It will amount to eight (A) 65cm f@--'?“:, cm
HEbe ugloin (©) 85em D) 55em
15 years (B) 12 years
137. In a triangle ABC, BC is produced to D so that
(Gily 1228 (R dye=se ‘ CD=AC. If ZBAD =111°and ZACB=80", then the
N i ana ooty is measure of ZABC s
ini co ; -
129, Minimum value o @) 31 ®) 33 @ 35 .,_.fElf -
12 By 1 Q) 6 ) 13
; 138. In AABC, ZA+ ZB=145" and £C+2-B=180"
130. 1f 50% of (P—Q)=30% of (P+Q) and Q=x% of P, State which one of the following relation is true :

then the value of x is (A) CA=AB

(B) < AB
(A) 30 (3/25’ © 20 D) 50 {©) BC>AB /mc::: AB

< 5 - | 139. Ifthe volumes of bvo right circular cones are in the
131, [Ifsinf —cost= _é- the value ntjsinﬂ +cosflis: :] ratio 4 : 1 and the - diameters are in the ratio 5 - 4,

i) ﬂle;lﬂl&gﬁqﬂfthehheightsiﬂ: :
(A) 116 "B 25:64
o 64:25
. EY

L

>
|
=]
=
o H
e |

- sy
132" Ifcosect ~COINERCIES
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141. A train 270 metres long is running at a speed of

36 km per hour; then it will cross a bridge of length
180 metres in

-"EB]'JE SeC
() 35 sec

(A) 40 sec
(L) 50 sec

The fallowing table shows the productions of food-grains (in
million tons) in a state for the period 1999 - 2000 to
2003 - 2004. Read the table and answer the questions
142 to 145. i

Production (in million tons)
Year
Wheat | Rice | Barley | Other cereals
1999 -2000| 680 270 250 450
2000-2001 | 800 420 440 300
2001 -2002| /80 350 320 460
2002 -2003| 720 400 380 500
2003 -2004| 820 560 410 HYI)
142. In 2002 - 2003, the percentage increase in the

production of barley as compared to the previous

year was :
(A) 14.20 (B) 17.85
}3/13.?5 D) 7.90

143. During the period 1999 - 2000 to 2003 - 2004,
x percent of the total production is production of

wheat. The value of x is about :
(A) 12.6 jﬂé‘d (C) 37.8

(D) 20.2

144. In the year 2003 - 2004, the increase in production
was maximum over the previous year for: -
&
(A) Rige ®) Barley
}Q’ "Other cereals (D) Wheat o

Production of three rIfﬂérﬁ.l!ﬂHE'mr?‘E soft t:.l']’.!-flkfi X, Yand Z
over a period of six years has been g;fF;Ff‘S‘;iﬂi.H! Hie _ff:'i'l'hmi.'ug
I'._f'r‘rrlllj,r]. H,l”dl;_ll Hhe gmlr;,r]' and aHMsier fhE?I]'!l'lE’EfIUHF 146 to 150.

R
Rl
A W]
T 60t L2 < - i:-'; e
| s [l al 2V, o
50t 2 | | B0 B .::‘:: % |
a . lac ] a5 -__,-"' r-__,- I
C W Y8 Nz ] A L
ot AREN D A ¥
8 BZR BZ 28 Bz
L. ER E R A 28 B~z
- u! J"I]“ g I__-" :"; _.r"-.
= _.-"" L] ] |
= 2| = # = .
RNl BZH B2 B2 7
2 ] -] ]
RUNZE BER B
Ml bl 0 Y
05005 2006 2007 2 2009 2010
Year ——

146, The approximate decline in the production of flavour

Z in 2010 as compared to the production in 2008
15 :

/ﬁiﬁﬂ% B) 225% (O 42% (D) 25%

147. The average annual pmduu::tiun was maximum in

Wﬁ period for the flavour
Y only (B) Zonly

(C) XandZ D) X only

148. What percent of the total production of flavour X in
2005 and 2006 combined is the total production of
flavour Z in 2007 and 2008 combined ?

(A) 1p2.25 (B} 115.57
133.33

D) 96.67
149. The percentage of rise/fall in production from the
PTevious year 1s maximum for the flavour Y in this
year

2007 (B) 2008 () 2009

150.  The difference (in lakh bottles) between the average
production of flavour X in 2005, 2006, 2007 and the
average production of flavour Y in 2008, 2009 and

(D) 2006

average production of barley over the years 2010 is :
4) 50 - IROEREEE i @R oS NS 15N (S
e  ROUGH WORK -

 SPACE I
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PART - D
ENGLISH COMPREHENSION

Directions: In question numbers 151 to 155, some parts of
the sentences have errors and some are correct. Find out
which part of a sentence has an error and blacken the
oval |@m] corresponding to the appropriate letter (4, B, C).
If a sentence is free from error, blacken the oval
corresponding to (D) in the Answer Sheet.

151. When one hears of the incident /
(A)
about the plane crash
(B)
he feels very sgery. / Mo Error,
- i
152. lwentthere / with aview to :;u‘:ﬁay fi
(A) By
the entire procedure. / No Error.
{C) (D)
153. Ithad laid /in the closet /
) (B)
for a week before we found it / No Error.
(<) (D)
154. He was present /in the court /to give withess /
(A) (B)
No Error. | £AF
(D)
155. Helaughed / on
(A) )
as she fell off the tree, / No Error.
() ()

Directions : In question numbers 156 to 160, sentences are
given with blanks to be filled in with an appropriate
word(s). Four alternatives are suggested for each q;UES!]ml
Choose the correct alternative out of the fuu.r and indicate
it by blackening the appropriate oval [ & | in the Answer
Sheet. T
156. There are not solitary, free-living creatures ; ev
form-of life is other forms.
dependenton (B) parallelto
(C) overshadowed by b (D) segmgateld Ti

R

now as | have anof

I'll take e —

appointment suhiéwhge

Dovx{@oﬁﬁfém  http:

157.

158. A garden knifeis _ ___used forlight prunin

f,mmwmi[}f (B) compulsorily
(C) systematically (D) daily

159, Serious threat to our ecology and environment ca
be  with organic cultivation.

(A) hastened

(B) impeded
(C) aggravated
{B‘j"gmnbated

~

‘My India’ by Corbett deals _ _the author’
familiarity with and love of India.
AP wit

(A) in (By'af (C) at

Directions : In question numbers 161 to 165, out of the fou
alternatives, choose the one which best ex ses th
meaning of the given word and mark it in the Answer Shee

161.  Abnopmal { ¥ )
Mnnatural (B) Aggressive| 2175

“(Q Unique ) Informal

] .r._:-'_,:? | L".!’ AV ]

162. Venal ( < )

-

_AR) Corrupt
© Legible . .

- - ."1|Tr".-"| !
T TR )

160,

L4

(B) Comprehensible "
(D} Forgivable (-;,.::_;. 4

163. Conjurer A )
Lt

Mﬁagician \

(B) Jester
(©) Performer (D) Trickshi
164. Invoice ( 1&Ta )
(A) Word By Sound
[ Statement (D) Language

165. Ameliorate (" £t FTENTN )
{MPIOVE g5,z (B) Degrade (317" -

i mit;ﬁ;g B Agree [ 457)
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Directions : In question numbers 166 to 170, choose the

word opposite in meaning to the given word and
in the Answer Sheet, E.l g

166. Debacle (_311,,\)
MHECESE {,_?l:,..‘n {B} RESPI:ITIEE kgﬂt‘fﬂij

([©) Acceptance (D) Agreement
HW:TJI_] 'r'!"‘a.:r"—f] -Jh-rq

Abusive | 441 qﬁﬁ >
(A Taudamw{mm'j{m Prﬂﬁﬁelf E-n_u ‘:r"rq‘ha.. J
(C) Effu

EW?.HET:'&'H-.] Dy FJﬂb]EL QE%”L'

Amorphous | 1, f0.5)
(A) Amoral f_'”-'%ﬁ"& )

167.

168.
Definite [ {1 (33 )

erfect {ﬁ} (1) Irregular t'ﬂh“'f ul
169. Unitary (&W7sm )
(A)-Single ( 27cry)  (B) Triple
_(©OMultiple (D) Double

170. Adulteration L'Elp‘aé,}
rification| G \J[El MNormalization
l(ﬂ;}"ﬂe]uvenatmn (D) Consternation

Duectiuns In question numbers 171 to 175, four
allaematwesare given for the Idiom/ Phrase underlined in

%E sentence. Choose the alternative which best expresses
._. meamngﬂfmeldmm,i’thsemﬂmknm&reﬁnswer
; 71. I tried to feel his pulse on the issue, but in vain.

3 Mﬂ his views  (B) enlighten him

argue with him (D) guidehim

;., For this act of indifference he will be takentotask by

r .'!r

€. theauthority
‘:' (Ay he will get an official reprimand from the
| ~ authority.

M'- hewﬂlberewdedb}'ﬂleauihunty

By wjﬂ,teﬂdﬁ'mﬁﬂgﬂﬁumtﬂﬂlﬂ authority.
\ j:'aﬁﬂbeminwhed mthanafficmlpb

174. The new manager ruled the roost from day one.
AT exercised authority

{B) rushed through work

(C) got paid very handsomely

created good impression

175. Despite his initial arrogance he had to eat humble
pie.
_(Ay hehadtoy ield under pressure
(B) he maintained composure
(O he failed to protest eventually
(D) heaccepted the food offered

Directions : In question numbers 176 to 180, a part of the
sentence is underlined. Below are given alternatives to

the underlined part at (A}, (B) and (C) which may improve
the sentence. Choose the correct alternative. In case no

improvement is needed your answer is (D).

176. The gentry of the town was invited.
(A) isinvited (B) has been invited
fﬂ%‘*"‘were invited (D) Noimprovement

177. After the written exam, you will also have an oral
exan, _
(A) practical
({©) vocal

viva voce
“ (D) Noimprovement

178. The regular use of alcohol, only in small quantities,

tends to cause mischief in many ways to various
organs of the body.

(A) though in small quantities
_{By—&ven in a little quantity
/_[Q'{ven in small quantities
- [I:‘-'} Mo improvement

1'?9_ If}ruumre the Prime Minister of India what steps
ave take tnendunmnpln}mt?
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Directions : In question numbers 181 to 185, out of the four
alternatives choose the one which can be substituted for
the given words/ sentence.

181. A person who attends to the diseases of the eye is
an :
l oculist
(L) obstetrician

optimist

(B)
,ﬁfﬁ optician

182. Thestudy of worms and insects.

r‘ﬂiﬂmﬂiﬂg}’

() paleontology

(A) taxidermy
{C) ornithology

183. A person who devotes his/ her life for the welfare of

others,
altruist (B} hermit
(C) volunteer ’@)"ma.thT

184. A person who shows off his learning :

Ay pedant (B} educationist
‘.P- - )
(C) exhibitor 4B researcher

185.  Writtenlaw of a legislative body,

_{A) statute _(BrStature
(C) static (D) statue

Directions : In question numbers 186 to 190, groups of four

words are given. Ineach group, one word is correctly spelt,

Find the correctly spelt word and mark vour answer in the

Answer Sheet.

186. (A) rhythym
(C) rhythim

(B} rhithim
rhythm

187. (A) indeganeous ,ﬂfBT"{u—{digenuus

(C) indegenous indigeneous
188. caccarine  (B) sacarine i
(C) sachharine  (DjSaccharine

8 %‘vﬂiutim ~ (B) revoulutionize
L ionize ] < onisa
(O) rev voluti £ i D) ..revnllu 1

QOO (A)idisen’Ty | - g
(C) diesentry

Download From : ht
* BQ 2013/Page30

Directions: In question numbers 191 to 200, you have two
Passages with 5 questions in each passage. Kead the
passage carefully and choose the best answer to each
question out of the four alternatives and mark it by
blackening the appropriate oval [« ] in the Answer Sheet.

Passage I (Q.No. 191-195)

It is not luck but labour that makes me. Luck, says
an American author, is ever waiting for something to turn
up ; labour with keen eyes and strong will always turns up
something, Luck lies in bed and wishes the postman would
bring him news of a legacy, labour turns out at six and
with busy pen and ringing hammer lays the foundation of
competence. Luck whines, labour watches, sLuyck relies
upon chance, labour upon character. Luck slips
downwards to self-<indulgence ; labour strides upwards
and aspires to independence. The conviction, therefore, is
extending that diligence is the mother of good luck. In
other words, a man's success in life will be proportionate
to his efforts, to his industry, to his attention to small things.

191, Which one of the following words in the passage
indicates that the writer does not ultimately reject
the element of luck ?

(A} ‘Luck whines’
8
By "Diligence is the mother of good luck’,

Q) "Luck......wishes the postman would bring him

(D) "Luck.... 15 ever waiting’.
132.  Which pair of words means the same thing ?
/%buurand industry
(B) Industry and legacy
(D) Legacy and labour




Do
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193. Whi-::lj one of the following statements sums up the
meaning of the passage ?

g

Luck waits and complains without working

while labour achieves success although it
complains,

(B) Luckis self-indulgent, but labour is selfless.
i&:}"é Luck often ends in defeat but labour produces

luck
(D) Luck waits without exertion, but labour exerts
without waiting,.
194. °

Labour turns out at six and with busy
pen and ringing hammer lays the foundation of
competence’. What does this statement mean 7

(A) Labour lays the foundation of the building,

(B) The writer and the labourer are the true eyes of
the society.

(C) There is no worker who works so hard as the
labourer who begins his day at six in the

rIrf”f'nua:u'ru'rug.
}B)/ﬁardwmk of all kinds makes people different.

195. Which one of the statements is true about the

passage ?
(A) Success depends only on hardluck.

(B) Expectation of good luck always meets with
iIsappointment.

Guccess is exactly proportionate to hard work.
(D) Luck is necessary for success.

Passage 11 (Q.No. 196-200)

Violence has played a great part in the world's
history. Itis today playing an equally important partand
probably it will continue to do so fora considerable time. 1t
is impossible to ignore the importance of violence in the
past and present. To do so is to ignore life. Yet violence is
undoubtedly bad and brings an unending trail of evil
consequences with it, And worse even than violence are
the motives of hatred, cruelty, revenge and punishment
which very often accompany violence. Indeed, violence is

bad, not intrinsically, but because of these motives that o -
with ii;':,,'l'tmre-canbeﬁﬂleme without these motives ; there

can be violence for a goodﬂhiactasweﬂas‘fur;nwﬂgbject.
But it is extremely difficult to separate ﬁe}e;gg: from these

! gm:lawe A

far as possible. Inavoiding it, however, one can not accept
a negative attitude of submitting to other and far greater
avils. Submission to viclence or the acceptance of an unjust
regime based on violence is the very ne gative of the spiril
of non-violence. The non-violence method, in order te
justify itself, must be dynamic and capable of changing
such a regime of social order.

196. The word ‘dynamic’ in the concluding line of th
passage means :
(&) active
(B) energetic
_{€)” capable of change and progress

&

all of the above

197. Whichof the following statements is incorrect ?

/}g}’@ﬁlv violence can be used against violence.
(B) Violenceis not inherently evil.

(C) Violence is a historically accepted fact.
(D) Violence cannot be ignored.

198. “Violence without these motives’ is possible onl
mn :
(A) practice (B) reality
(C) dream /@}'”iheﬂry

199, ‘Indeed, violence is bad, not intrinsically, b
because of these motives that go with it’. Tk
suggests:

(&) Violence is basically good.

(B} Violence is bad only when it is associated wi

e certain motives.

jolence is bad because the people who exerc
it are bad.

(D) Violence is basically bad.

200, Non-violence, according to the writer, means:
(4) violence without the evil motives.
(B) givingin tothe tyranny of the powerful.

. (C). accepting violence as a fact of life.
AD) none of the above.

e

-olo-

777 S



